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x=[1:0.5:10];
y=exp(x);
plot(x,y)
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G 3l 1oL A o8 s PIOE Sla¥) m s B2n)5 Al )an) g on) 3m g Alls 3 Aliadle
Al palie K (X,X )Lfi

i=1:10 a &) Cua exp(i) A an ) 13 Jlia
: Jadl
y=[1;
for 1i=1:10
y(i)=exp(i);
end;
plot(y);
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y=[1;
for i=1:10

y=[y exp(i)];
end;

plot (y);
Lhadll Juds 36 Jegend(' 1) Sl
X osaall o) sie xlabel (F 1) St
y osall gl sie ylabel (1) Sl
Z ysaall Olsie zlabel (1) O
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deal gy fla o il Aaly dna il

: o Talaaal

:dadl

clc

clear

x =0: pi/100: 2 * pi;
y =sin (x);

plot (X, y);

legend('sin(x)");

xlabel ('x = 0: 2: pi');

ylabel ('sin (x) ');

title ('plot sin cos function’);

plot sin function
1 T T T
sin(x)
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0 1 5 6 7
x=0:2:p

Dbl o slie g abaddll s AU aa 0 :2pi (e 8l y=sin(X) ,z=cos(X) Al an ) ¢ Jlia
ol aladall ) gie

clc

clear

x =0: pi /100: 2 * pi;
y =sin (X);

z=c0s(X)

plot (X, y ,X,2);

93




2607

legend('sin(x)','cos(x)");

xlabel ('x = 0: 2: pi');
ylabel ('sin (x) );
title ('plot sin function’);

1

sin (x)

plot sin function

3hie s, eyl
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JsY) el lily Jiad Xy O Sua e Gusial as )l plot (X, Y ,X,2); dasall leadial 1

L SN Gaiall by Jiai x,zd) s sin(x) Jies )

JsY¥) St Jils Bl ¥ e 3l o Sua legend('sin(x)','cos(x)"); dapall Leadin) 2

AN Aatall Bl Jlay SU e 5l
Axguall alaaiuly el 5 i JSAadle 5 o) aaa SYL 3

plot (X, sin (x), 'r: +', X, cos (X), 'b: *');
GooY s Jiai b s sin(x) Alall (hbaall ) caidl dedle Jidi +5 a1 ol Jiay 1 of s
+ Sl g ) ¢ oS5 o3e ) Jiall e dapall sda Gulai vizd cos Allall aladall Aedle *

plot sin cos function

sin (x)

==+ -- sinfx)
---¥-- cos(x)

x=0:2:pi
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text Ol alasiudy labidll e (ai 4K Sy ddaadle

text (X, v, 'string");

/

shedl HaaY) saball SaaY) 4GS G sllaall ail

V) 4805 Ja shad (2 je a2ad OFf ) sl 480 o shad (2 23 0N Lal (et 230 grid ey

plot3
lae by S plot da bl Ll dlisa s plot3 gl 5 21 DG I plot bl madi o3 adl
sl Aalad) Banall g ey (pe Y alay) GO Ld bl o S

plot3 (x1.vyl.zl.sl. x2.v2,z2.s2....):

SE
SRYI FaY) ey (5 3o 1)
J sV I (RN (i

Plot3 eV alasiinly ANl ) slaall as )} CaDlile Ay zeals S ;Ui
X=sin(z) ¢! S

y=c05s(2)
(0,0) Ja¥) adasi g DN ) glaall (4o glic M35 #00:10*pi 3l
- dall
close all
clc
clear

t = linspace (0, 10 * pi, 100);
plot3 (sin (t), cos (t), t);
xlabel ('sin (t)");

ylabel (‘cos (t)");
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zlabel ('t");
text (0, 0, 0, ‘origin’);
grid on

t = linspace (4l Aad) Al dad Llal) axe);

Ao el bl o gl
subplot(n,m,p) suis Cus | ) ga g) ) glas de gana o JISL cluad ) 32a) 5 figure 83U audaius
Zdbac_ua.d pi\;l.u.d\ Dby g halial) aa ol n*m A ghina AT JSE 3380

30= ki 2225 2pi (A O (3o 33l g Banl 5 328 8 ) sall s 5 Dlile dady el s iiS) ; Jlia
P JVsall g

sin(x)

cos(x)

2sin(x)cos(x)

sin(x)/(cos(x)+eps)

P
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x = linspace (0, 2 * pi, 30);

y = sin (x);

z = cos (X);

a=2*sin (x) .* cos (x);

b =sin (x) ./ (cos (X) + eps);

subplot (2, 2, 1);

plot (x, y); axis ([0 2 * pi -1 1]); title (‘'sin(x)");
subplot (2, 2, 2);

plot (X, z); axis ([0 2 * pi -1 1]); title (‘'cos(x)");
subplot (2, 2, 3);

plot (X, a); axis ([0 2 * pi -1 1]); title (‘2sin(x)cos(x");
subplot (2, 2, 4);

plot (X, b); axis ([0 2 * pi -20 20]); title ('sin(x)/(cos(x)+eps););

sin(x) 1 cos(x)
| 05
0
05 |
I T T E—
2sin(x)cos(x . sin(x)/(cos(x)+eps):

1

-0.5
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dandaiall Aball o gyl aadion surf gy
bar chart aw_ axiiu bar SlaY)
histogram e ! a3aiw :hist Sl
pie chart sl 2335 pie SlayY!

dndand) Al o sl aadinn surf Sl

: 1Jba
[x y z] = peaks (30);
surf (X, Y, 2);
xlabel ('x-axis";
ylabel ('y-axis’); !
zlabel ('z-axis"); ‘

Z-axis

02 Ja

fori=1:10
for j=1:10
mult (i, j) =1 *j;
end;
end;
surf (mult)
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bar chart aw_ axiiu: bar jlay)
: JUa
x=-2.9:0.2: 2.9,
bar (X, exp (-X .* X));

1
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histogram s padius :hist jla¥)
: Jba

x=-2.9:0.1: 2.9,
y = randn (10000, 1);
hist (y, X);
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pie chart aw_l aaiiu pie jlaz¥)

: Jla
x=[130.5252];
explode=[01100];
pie (x, explode);

: Jla
clear;
clc;

corr =[0.0012, 0.0208, 0.0633, 0.1391];
amount =[1, 2, 3, 4];

plot (amount, corr, '--rs');

title ('Cipher-image VS Amount of Encrypted Data);
xlabel ((Amount of Encrypted Data’);

ylabel (‘'Cipher-image Correlation’);
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Cipher-image VS Amount of Encrypted Data

0.14 T T T T T /:I

008}
/

Cipher-image Correlation

o el I I I I I
1 15 2 25 3 35 4
Amount of Encrypted Data

101




